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Name ________________

Dimensional Analysis Class Worksheet
Dimensional Analysis is a conversion tool that allows you to correct convert between units and dimensions.  Conversion tables are very helpful here.  Show all work in your solutions.
For example:

Captain King pilots a starship 2.0 million light years away from Earth.  How far, in inches, is the spaceship from Earth?

Practice problems:

2. Eric launches a projectile into the air at his target that is 36.7 feet away.  If he calculates that distance to be 396.2 cm away, will he reach the target?   

3. Claudia weighs 122.6 lbs.  When she goes to Canada, they ask her for her mass in kilograms.  What should she tell the customs official..besides that she has nothing to declare!

4. Adam goes to the gym and boasts that he can lift 200.0 lbs.  His buddies challenge him to lift 200.0 drams and he fails to do it.  How much did Adam fail to lift?  What does this say about Adam’s strength?

5. Lumberjack Ryan attempts to break his tree-chopping championship record of 2.0 trees per minute to impress the love of his life, Amanda.  If he chops 52 trees in 0.75 hr, did he break his record?

6. Jessica is super-fast at racing horses.  If she rides 10.0 miles every 23.0 minutes, how many yards will he have covered in 2.0 hours, 13.0 minutes?

7. Wayne is a mean-green football machine.  If Wayne tackles 20.0 players per game and each game is 1.0 hour in length, how many tackles does he have per second?

8. Lizzy likes to run around in circles in her backyard.  Just for fun, she also puts a bucket on her head and screams “Wa-hoooo!”.  If she yells “Wa-hoooo!” three times per 1.5 circles and each circle has a circumference of 1100.0cm, how many circles does she complete if her parents hear “Wa-hoooo!” 63.0 times?  

b) How many total feet does she cover?

9. Given the following equivalents, convert 1 fizzle to frizzles.
3 swizzles 
= 
7 twizzles

1 fizzle
= 
2 drizzles

3 twizzles 
= 
14 sizzles

1 swizzle
= 
22 frizzles

8 drizzles 
= 
5 sizzles
